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Topic 1, Volume A

A user creates a permission set and is the owner of that permission set.
 
 
Which type of permission set does the user have?
 
 
A. User Permission Set 
B. System Permission Set 
C. Public Permission Set 
D. Regular Permission Set 
 

Answer: A

 

 

When a document object is checked in as the same version, which statement is true?
 
 
A. All renditions are orphaned from all versions. 
B. All renditions are orphaned from the current version. 
C. No renditions are orphaned from the current version. 
D. All renditions remain attached to a document object regardless of same version checkin. 
 

Answer: B

 

 

Which benefit does the Branch Office Caching Services (BOCS) architecture provide in a
single-repository distributed environment?
 
 
A. A copy of the content to store at each location is created. 
B. Content upload and download performance is improved. 
C. Content and properties from the repository are published to a target site. 
D. Global users, global groups, and global ACL's can be created on a governing repository
to be replicated onto member repositories. 
 

Answer: B
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Which statement is true about full-text activation in D2?
 
 
A. For optimal full-text search capabilities, DQL Fulltext and Documentum xPlore should be
used simultaneously. 
B. Activation of full-text search capabilities using Documentum xPlore and OpenSearch
requires an external search engine installation. 
C. Activation of full-text search capabilities using DQL Fulltext and OpenSearch requires an
external search engine installation. 
D. For optimal full-text search capabilities, DQL Fulltext and OpenSearch should be used
simultaneously. 
 

Answer: B

 

 

When creating a new user, which attributes are required?
 
 
A. user_name, user_login_name, user_address 
B. user_name, user_os_name, user_email 
C. user_name, user_login_name, user_login_domain 
D. user_os_name, user_login_name, user_address 
 

Answer: A

 

 

What can be subscribed to in the repository?
 
 
A. A permission set 
B. An object type 
C. A group 
D. A folder 
 

Answer: D
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Topic 2, Volume B

In a workflow template, what is transferred by ports among the workflow's activities?
 
 
A. package 
B. users 
C. aliases 
D. groups 
 

Answer: A

 

 

Which statement is true regarding lifecycles and workflows?
 
 
A. A lifecycle defines who does what and in which order. A workflow defines entry criteria. 
B. A lifecycle defines what happens in a particular activity. A workflow defines operations
and actions. 
C. With lifecycles, objects are forwarded. With workflows, objects are promoted. 
D. A lifecycle is a linear progression of states. A workflow is a network of activities. 
 

Answer: D

 

 

When configuring an Email Inbound - Step or Initiate activity in the Process Activity
Inspector, what is a valid protocol for connecting to the email server?
 
 
A. SFTP 
B. IMAP 
C. HTTP 
D. FTPS 
 

Answer: B
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A user wants to search for a document whose subject is set to “server” or “Server”.
 
 
Which DQL query will do this?
 
 
A. select object_name from dm_document where lower(subject) = 'server' 
B. select object_name from dm_document where subject like '%erver' 
C. select object_name from dm_document where subject like '?erver' 
D. select object_name from dm_document where lower(subject) = 'Server' 
 

Answer: A
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